西南大学入学测试机考

高起点 数学 模拟题
1、题目B1-1：（2）（        ）
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标准答案：C

2、题目B1-2：（2）（        ）
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标准答案：D

3、题目B1-3：（2）（        ）
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标准答案：C

4、题目B1-4：（2）（        ）
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标准答案：D

5、题目B1-5：（2）（        ）
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标准答案：A

6、题目B1-6：（2）（        ）
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标准答案：C

7、题目B1-7：（2）（        ）
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标准答案：C

8、题目B1-8：（2）（        ）
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标准答案：C

9、题目B1-9：（2）（        ）
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标准答案：B

10、题目D1-1（2）（        ）
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标准答案：B

11、题目B1-10：（2）（        ）
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标准答案：C

12、题目D1-2（2）（        ）
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标准答案：B

13、题目B1-11：（2）（        ）
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标准答案：C

14、题目D1-3（2）（        ）
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标准答案：C

15、题目D1-4（2）（        ）
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标准答案：D

16、题目D1-5（2）（        ）

[image: image16.png]mgimi[ ] st o

(&) FATLESH (B) LEARFS 4
(C) FTEEMH (D) AT ALEE




   A．A

   B．B

   C．C

   D．D

标准答案：C

17、题目D1-6（2）（        ）
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标准答案：C

18、题目D1-7（2）（        ）
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标准答案：C

19、题目D1-8（2）（        ）
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标准答案：C

20、题目D1-9（2）（        ）
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标准答案：B

21、题目D1-10（2）（        ）
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标准答案：B

22、题目D1-11（2）（        ）
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标准答案：C

23、题目D1-12（2）（        ）
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标准答案：A

24、题目D1-13（2）（        ）
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标准答案：A

25、题目D1-14（2）（        ）
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标准答案：C

26、题目D1-15（2）（        ）
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标准答案：D

27、题目D1-16（2）（        ）
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标准答案：D

28、题目D1－17（2）（        ）
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标准答案：D

29、题目D1-18（2）（        ）
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标准答案：A

30、题目B1-12：（2）（        ）
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标准答案：A

31、题目B1-13：（2）（        ）
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标准答案：B

32、题目B1-14：（2）（        ）
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标准答案：D

33、题目B1-15：（2）（        ）
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标准答案：A

34、题目B2-1：（2）（        ）
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35、题目B2-2：（2）（        ）
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标准答案：A

36、题目B2-3：（2）（        ）
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标准答案：A

37、题目B2-4：（2）（        ）
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标准答案：C

38、题目B2-5：（2）（        ）
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标准答案：B

39、题目B2-6：（2）（        ）
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40、题目B2-7：（2）（        ）
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41、题目B2-8：（2）（        ）
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42、题目B2-9：（2）（        ）
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标准答案：A

43、题目B2-10：（2）（        ）
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44、题目B2-11：（2）（        ）
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45、题目B2-12：（2）（        ）
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46、题目B2-13：（2）（        ）
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47、题目B2-14：（2）（        ）
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标准答案：B

48、题目B2-15：（2）（        ）
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49、题目B3-1：（2）（        ）
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50、题目B3-2：（2）（        ）
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51、题目B3-3：（2）（        ）
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标准答案：A

52、题目B3-4：（2）（        ）
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标准答案：D

53、题目B3-5：（2）（        ）
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54、题目B3-6：（2）（        ）
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标准答案：C

55、题目B3-7：（2）（        ）
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标准答案：B

56、题目B3-8：（2）（        ）
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标准答案：C

57、题目B3-9：（2）（        ）
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58、题目B3-10：（2）（        ）
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59、题目B3-11：（2）（        ）
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60、题目B3-12：（2）（        ）
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标准答案：D

61、题目B3-13：（2）（        ）

[image: image61.png]MRS, FESRARASEME ()
1
B P g

Cop=—t D. p=yfx+27 +1





   A．A

   B．B

   C．C

   D．D

标准答案：D

62、题目B3-14：（2）（        ）
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标准答案：B

63、题目B3-15：（2）（        ）
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64、题目D3-6（2）（        ）
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65、题目D3-7（2）（        ）
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标准答案：D

66、题目D3-8（2）（        ）
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67、题目D3-9（2）（        ）

[image: image67.png]WMESHEHICH 4 BlEe="1, A AAMRENE. HES, FAH

EREWHEENTELT 4. SRS, B 48R 47 |5 3R MEETEH,
M BETC .

4 872 (B) 47 (9]

/2 (D) 8




   A．A

   B．B

   C．C

   D．D
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68、题目D3-10（2）（        ）
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标准答案：A

69、题目G1-1（2）（        ）
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70、题目G1-2（2）（        ）
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71、题目G1-3（2）（        ）
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72、题目G1-4（2）（        ）
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73、题目G1-5（2）（        ）
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74、题目G1-6（2）（        ）
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75、题目G1-7（2）（        ）
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标准答案：B

76、题目G1-8（2）（        ）
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   A．A

   B．B

   C．C

   D．D

标准答案：A

77、题目G1-9（2）（        ）

[image: image77.png]B0 = 2+t LT AR C )
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   A．A

   B．B

   C．C

   D．D

标准答案：A

78、题目G1-10（2）（        ）

[image: image78.png]27718

kA

A ket B

= I TR x HLLAPTERERT » KR

aeked ke D ko

)




   A．A

   B．B

   C．C

   D．D

标准答案：B

79、题目G1-11（2）（        ）

[image: image79.png]EVEC13 =41, 2%
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   A．A

   B．B

   C．C

   D．D

标准答案：B

80、题目G1-12（2）（        ）
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   A．A

   B．B

   C．C

   D．D

标准答案：C

81、题目G1-13（2）（        ）
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   A．A

   B．B

   C．C

   D．D

标准答案：A

82、题目G1-14（2）（        ）

[image: image82.png]T+x
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   A．A

   B．B

   C．C

   D．D

标准答案：C

83、题目G1-15（2）（        ）

[image: image83.png]IAFRERTRE )
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   A．A

   B．B

   C．C

   D．D

标准答案：D

84、题目G1-16（2）（        ）
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   A．A

   B．B

   C．C

   D．D

标准答案：D

85、题目G1-17（2）（        ）
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   A．A

   B．B

   C．C

   D．D

标准答案：D

86、题目G1-18（2）（        ）
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   A．A

   B．B

   C．C

   D．D

标准答案：A

87、题目G1-19（2）（        ）
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   A．A

   B．B

   C．C

   D．D

标准答案：C

88、题目W1-1：（2）（        ）
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   A．A

   B．B

   C．C

   D．D

标准答案：D

89、题目W1-2：（2）（        ）
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   A．A

   B．B

   C．C

   D．D

标准答案：A

90、题目W1-3：（2）（        ）
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   A．A

   B．B

   C．C

   D．D

标准答案：B

91、题目W1-4：（2）（        ）
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   A．A

   B．B

   C．C

   D．D

标准答案：C

92、题目W1-5：（2）（        ）
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   A．A

   B．B

   C．C

   D．D

标准答案：D

93、题目W1-6：（2）（        ）
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   A．A

   B．B

   C．C

   D．D

标准答案：C

94、题目W1-7：（2）（        ）
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   A．A

   B．B

   C．C

   D．D

标准答案：C

95、题目W1-8（2）（        ）
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   A．A

   B．B

   C．C

   D．D

标准答案：C

96、题目W1-9（2）（        ）
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   A．A

   B．B

   C．C

   D．D

标准答案：A

97、题目W1-10：（2）（        ）
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   A．A

   B．B

   C．C

   D．D

标准答案：C

98、题目W1-11：（2）（        ）
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   A．A

   B．B

   C．C

   D．D

标准答案：C

99、题目W1-12：（2）（        ）
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   A．A

   B．B

   C．C

   D．D

标准答案：B

100、题目W1-13：（2）（        ）
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   A．A

   B．B

   C．C

   D．D

标准答案：D
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